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1.1

P T N v A A/A* M G K R
barA K ka/m’ ___ m/s m’ = ka/s - kJ/[kaK]
0 2 51315 1216 0w 0 14 0287
*| 1057 4776 0771 4381 4191E-04 1l 01415 (300K
1946 5687 1102 944 1257E-03  2.998  0.1976
! 1945 5686 1192 956 1242E-03  2.964 02
! 1879 5630 1163 1427 B8529E-04  2.035 03
! 1791 5554 1124 1890 G6664E-04 1590 04
! 1686 5459 1076 2342 5615E-04 1340 05
! 1568 5347 1022 2781 4980E-04 1188 06
! 1442 5220 0962 3206 4586E-04  1.094 07
! 1312 5081 0900 3615 4351E-04 1038 08
! 1183 4932 0835 4007 4.228E-04  1.009 09
1057 4776 0771 4381 4191E-04  1.000 1| 20448
! 0256 3184 0280 7154 7072E-04 1688 2
0095 2398 0138 8184 1257E-03  2.998  2637| -33.40
1 I [} I 1 1 1 1
1 I I I 1 1 1 1
0.002 840 0010 9913 I#PeEsUZ 34099  5397| -189.18
1.2
P T P v A AA* M G K R
barA K ka/m® m/s m’ - ka/s - kJ/[kaK]
0 7 51315 0.756 T 0 1292 04614
«| 1004 5000 0474 5461  4191E-04 1] o185 (300K )
1049 5608 0741 1165 125/E.03 2998  0.999
! 1949 5698 0741 1166 1256E-03 2996 02
: 1888 5657 0723 1742 8613E-04 2055 03
! 1806 5600 0699 2312 6719E-04 1603 04
: 1707 5529 0669 2871 5651E-04 1348 05
! 1594 5445 0635 3419 5003E-04 1194 06
: 1473 5348 0597 3953 4509E-04 1007 07
! 1347 5241 0557 4472 4357E-04 1040 08
! 1220 5125 0516 4975 4230E-04 1009 09
1094 5000 0474 5461 4191E-04 1000 1| 22690
! 0261 3617 0157 9288 7.462E-04 1781 2
0113 2990 0082 10575 1257E-03 2998  2505| 2583
1 1 1 1 1 1 1 1
' 0004 1372 0006 13334 DAGEUZ 34009  4661| -13591



Smagorinsky
(
)
/ /
/ /
- or
(0.5d5 Pa)
100 m/s
( 1.9d5 Pa, 0.5d5 Pa, 0.1d5 Pa )
10 m/s
0.11d5 Pa, 0.2d5 Pa
A
B (0.04 )



Smagorinsky

5m/s

k-¢
(@ 0.025
(b) 0.05

0.06

0.065

©) Smagorinsky
C
C
D
C

e. Smagorinsky



1.1
4.1
P barA 1.057 1.946 1.057 0.095 1.946 0.928 0.095 1.000
T K 477.6 568.7 477.6 239.8 568.7 502.9 247.9 284.3
p kg/m"3 0.771 1.192 0.771 0.138 1.192 0.823 0.140 1.22
\ m/s 438.1 94.4 438.1 8184 94.4 398.5 819.8 0.0
A m"2 4.19E-04| 1.26E-03] 4.19E-04] 1.26E-03
A/A* 2.998 2.998
M 0.1976 2.637
4.2

P barA 1.057 1.946 1.057 0.095 1.946 0.932 0.108 1
T K 477.6 568.7 477.6 239.8 568.7 467.9 253.6 284.3
p kg/m"3 0.771 1.192 0.771 0.138 1.192 0.691 0.148 1.220
\Y m/s 438.1 94.4 438.1 8184 94.4 475.1 806.6 0
A m"2 4.19E-04| 1.26E-03] 4.19E-04] 1.26E-03
A/A* 2.998 2.998
M 0.1976 2.637

0.025

0.020

k\\
€ 0015
> 0.010
0.005 [
0.000 I I (
-200 0 200 400 600 800 1000
(m/sec)




Smagorinsky

ANSYS CFX Ver.11
Large Eddy Simulation Theory

xthryll.pdf,P98-99

Smagorinsky Model
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A2

A2.1
28 (N,)0.76 32 (0,)0.24
( (N2, 07)
( (N2, 0p)
A2.2
[10°PaA=1barA] | 1.946 0.095
[K] 568.7 -
(vz)[n/s] 94.4 (%) -
(vn)[m/s] 0.0 -
™ (non-slip)
A2.3
[10°PaA=1barA] 1.9
[K] 540.3
[kg/m®] 1.22
(vz)[n/s] 0.0
(vr)[n/s] 0.0
A3
0.4

12



A3.1

A3.2

Frame 001 | 07 Jan 2008 |

0.07 |
0.06 :—
B Mach No.
0.05 3
B 25
: 2
0.04 |- 15
B 0.5
n:0.03 } 0
0.02k
0.01
0
-0.01
time=4,00000E-01 s, Tmin= 2.62-308 K

Frame 001 | 07 Jan 2009 |

0.07 |
| Wmag
B 850
006 750
B g50
[ 550
B 450
0.05 |- 350
B 250
- 150
0.04 |- %
%03 —

time= 4,00000E-01 s, Tmin= 2.62-308 K
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A3.3

A3.4

Frame 001 | 07 Jan 2009 |

0.07 F
= PRESSURE
B 200000
0.06 180000
- 160000
N 140000
B 120000
005 100000
B 80000
- #0000
0.04 20000
N ]
n:0.0?) :—
0.02
0
-0.01 [N N N (N NN NN T NN NN TN N NN TR N NN R
0.24 0.26 0.28
4
time=4.00000E-01 s. Tmin= 2.62-308 K
Frame 001 | 07 Jan 2009 |
0.07 :—
= TEMPERATURE
B 650
0.06 /00
- 550
N 500
B 450
0.05 - 400
B 350
- 300
0.04 F 200
003 —
0.02 :—
0.01 |
oOF
00T
022 0.24 0.26 0.28
4
time= 4.00000E-01 s. Tmin= 2.62-308 K
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A3.5

0.07 |-
L DEMSITY
B 1.3
0.06 |- i
L 08
- 0.7
L 0.5
005 0.3
L 01
0.04 -
.03 —
0.02 |
0.01
0
-0.01
time= 4.00000E-01 s. Tmin= 2.62-308 K
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B2

B2.1
28 (N,)0.76 32 (0,)0.24
( (N2, 07)
( (N2, 0p)
B2.2
[Pa] 1.946e5 free free
[K] 568.7 294.8 free
[kg/m"3] EOS(*) free free
(vz2)[m/s] 94.4 >0.0 >0.0
(vr)[m/s] 0.0 0.0 free
B2.3
[Pa] 1.0e5
[K] 284.4
[kg/m*] 1.22
(vz2)[n/s] 0.0
(vr)[n/s] 0.0
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B3

B3.1

Frame 001 | 07 Jan 2009 |

0.5

0.4

0.3

0.2

0.1

0.04

Mach No.

25

15

05

0.3 0.4 0.5
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B3.2

Frame 001 | 07 Jan 2009 |

05
0.4 Vmag
B 900
B 800
B 700
03 600
B 500
| 400
o B 300
02 200
[ 100

01 |-

-0.1 N EEEEE R NN N NN A
' 0.3 0.4 0.5 ZU.G 0.7 0.8 0.9

time= 4.00000E-02 s, Tmin= 3.30E+00 K
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B3.3

Frame 001 | 07 Jan 2009 |
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B3.4

Frame 001 | 07 Jan 2009 |

0.5
04 TEMPERATURE
— 600
B 500
| 400
03F 300
- 200
| 100
o — 0
0.2 -
0.1
op s
_01_||||||||||||||||||||||||||||||||||||
' 0.3 0.4 0.5 0.6 0.7 0.8 0.9
Z
time= 4,00000E-02 s. Tmin= 3.30E+00 K
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B3.5

Frame 001 | 07 Jan 2009 |

05
04 PRESSURE
- 150000
B 130000
B 110000
03F 90000
- 70000
B 50000
o B 30000
02 10000
01F

-01 N EEEEE TR TR R TS NN
' 0.3 0.4 0.5 ZO.G 0.7 0.8 0.9

time=4.00000E-02 s. Tmin= 3.30E+00 K
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B3.6

Frame 001 | 07 Jan 2009 |

05F
04 DENSITY
— 2
B 1.8
n —1 1.6
03 — 14
B I 1.2
n 1
o - 0.8
02 — 0.6
N 04
n 0.2
01| °
- - ot
o, N A
01 I RS NS NN N NI A

03 0.4 0.5 ZO.G 0.7 0.8 0.9

time= 4,00000E-02 s. Tmin= 3.30E+00 K
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c2

c2.1
28 (N,)0.76 32 (0,)0.24
( (N2, 07)
( N, G)
Smagonrinsky
ANSYS CFX Ver.11 xthryll._pdf,P98-99
Large Eddy Simulation Theory Smagorinsky Model
c2.2
[Pa] 1.946e5 free 0.3e5
[K] 568.7 294.8 free
[kg/m"3] EOS(*) free free
(vz2)[m/s] 94.4 >0.0 >0.0
(vr)[m/s] 0.0 0.0 free
c2.3
[Pa] 1.0e5
K] 2844
[kg/m*] (***) 1.22
(vx)[m/s] 0.0
(v [m/s] 0.0

27



c3

0.055 0.060
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0.06



C3.1

Frama 001 |08 Jan 2008 |

06
05 [ I ach Mo,
- 248
B 2
| 1.5
n4 b 1
B 0.5
e | 0
0.3 :—
02f
0.1
N T s st e @
0.3 0.4 05 0.6 07 0.8 0.4
Z
time= 6,00000E-02 s. Tmin= 7.68E+01 K

Frame 001 | 09 Jan 2009 |

0.5
04 o Ma;%No'
B 2
B 1.5
B 1
031 0.5
e [ 0
0.2}
01|
0 w -
NS W WA I A WA .
03 0.4 0.5 0.6 0.7 0.8 0.9
Z
time= 6.00000E-02 s. Tmin=Z7.68E+02 K
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C3.2

Frame 001 | 09 Jan 2009 |

0.6 -
0.5} Vmag
B 800
B 700
B 600
04 500
- 400
B 300
x 200
0.3 — 100
0.2
0.1
0 3 - 3 % :
03 04 05 06 07 08 09
Z
time= 6.00000E-02 s. Tmin= 7.68E+01 K

Frame 001 | 09 Jan 2009 |

0.5
- Vmag
0.4 — 800
| 700
- 600
B 500
03 400
- 300
o B 200
02} 100
01|

0.3 0.4 0.5 0.6 0.7 0.8 0.9
Z

time= 6.00000E-02 s, Tmin= Z.68E+02 K
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C3.3

Frama 001 | 08 Jan 2008 |

0B

&

04

0.3

0.2

0.1

0

TEM PERATURE
g00
540
500
440
400
340
300

mn-

0.3 0.4 0.5 0B 0.7 0.8 04
Z

time= 6.00000E-02 s, Tmin=7.68E+01 K

Frama 001 | 0B Jan 2008 |

s
B TEMPERATLIRE
|:|4 __ 500
= 40
B a00
B 450
03 400
= 350
x| 300
02
0.1

0.3 0.4 0.5 0.8 0.7 0.8 08




C3.4

Frame 001 |08 Jan 2008 |

0
05k FRESSURE
- 50000
B 45000
N 40000
04 25000
B 30000
K 25000
o B 20000
0.3 —
0.2
0.1
B - . -
G T TN R S S DPSVIVIVEI A WA
0.3 0.4 0.4 0.8 0.7 0.4 0.9
Z
time= 6 .00000E-02 s, Tmin=7.68E+01 K

Frams 001 |08 Jan 2008 |

ns b
N PRESSURE
04 50000
B 45000
B 40000
B 35000
03 30000
B 25000
o - 20000
0z
0.1
[ s e s
:I 1 1 1 I ] ] 1 1 I 1 1 ] ] I 1 1 1 1 I ] 1 1 1 I ] ] 1 1 I 1 1 ] ] I 1
0.3 0.4 n.s 0.6 a.7 0. 0.9
Z
time=6.00000E-02 s. Tmin=Z.68E+0% K
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C3.5

0.5F
04__ DETSH’Y
B 0.9
- 0.8
B 0.7
031 0.6
- 0.5
o B 04
02F 0.3
B 0.2
0.1}F
0 [ \‘_ i " -
—_+||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||
0.25030350404505 0.5%0.6 065070.75080.850.9
time= 6.00000E-02 s, Tmin= 7.68E+01 K

Frame 001 |08 Jan zoos |

05
B DEMSITY
04 __ 1
| 0.4
B 0.g
[~ o7
03 0E
- 0.5
C 0.4
02| 0.3
<L 0.2
01|
[ [ e R A R S S S R
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0.3 04 0.5 06 0.7 0.8 09
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a2

d2.1
28 (N,)0.76 32 (0,)0.24
( (N2, 07)
( N, G)
Smagonrinsky
d2.2
[Pa] 1.946e5 free -> 0.3e5 (*2) 0.3e5
[K1 568.7 294.8 free
[kg/m"3] EOS(*1) free free
(vz)[n/s] 120.0 >0.0 -> 5.0(*3) >0.0
(vr)[m/s] 0.0 0.0 free
1
2 free
0.3e5[Pa]
3
5.0[m/sec]
d2.3
[Pa] 1.0e5
K] 2844
[kg/m*] (***) 1.22
(vx)[m/s] 0.0
(v [m/s] 0.0
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a3

3.11.1 3.2.11
3.1.1.2

3.224

3.2.2.5

Smagorinsky
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3.2.1.2



d3.1

d3.1.1

) =0 plt0

1=0.325

t=0.320 0.325

0] =0.3e5Pa  plt105

t= 0.405

1t=0.400 0.405

3.11.2 1=0.405
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ds3.2

d3.2.1

@) =0 PIt56

1t=0.160

0.1

t=0.155 0.160

0.1

3.21.1 t=0.160

©) =5.0[m/s] PIt120

1=0.480

1t=0.475 0.480

3.2.1.2 1=0.480
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d3.2.2 H20

@) =0 PIt20

1=0.006

©) =0 PIt25

1=0.015

3.2.2.2 t=0.015

3) =0 PIt32

1t=0.050

3.2.2.3 1=0.050
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) =0 PIt56

t=0.160
S .
3.224 t=0.160
) u=5.0[m/s] PIt120
1=0.480

3.2.2.5 1=0.480
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d4

1.1 1.2
d4.1
0040 nozzle:t104 0040 nozzle:t104
0035 \ nozzle:t105 0.035 =] nozzle:t105 [
- 1104 B 11104
0.030 H
0.030 \ —_— 105 v J— 105
g 0.025 — g 0.025 \ / — H
0.020 0.020
> 0015 \ > 0.015
0.010 I 0.010 /
0.005 { 0.005 ”
0.000 0.000
0 200 400 600 800 1000 -200 0 200 400 600 800 1000
(m/sec) (m/sec)
0.040 0.040
0.035 0.035 \ (
0.030 \ 0,030 Vil
20025 = 0025 7
0.020 - 0020 nozzle:t104 {
nozzle:t104 > 0015 |— :
>0.015 nozzle:t105 l ' nozz'fitolfs \
—_ 1104 0010 b—| — :
0.010 o J oo — 105 ) 4
0.005 — . F| c—
0.000 I / 0.000 ' \é1
0 100 200 300 400 0 100 200 300 400 500
K (K
t104 t= 0.395 t= 0.400 t105 t= 0.400 t= 0.405
4.1
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d4.2

0040 T 0040 T T
——nozzle:t119 0035 ——nozzle:t119
0035 nozzle:t120 ' _—— nozzle:t120
0.030 — 119 0.030 ) — 19 H
— 0025 N — 120 = 0025 — 20|
0.020 0.020 / —~
> l > 0015
0.015 / /
0.010 0010 /
0.005 0005 [ (
0 200 400 600 800 1000 1200 0 200 400 600 800 1000 1200
(m/sec) (m/sec)
0040 ——nozzle:t119 0040 ——nozzle:t119
0.035 I nozzleit120 [ 0.035 7 } nozzle:t120
0.030 B 119 1 0.030 B 11119
_ — 1120 . ) — 120
E 0.025 — o 50.025 (/ —
0.020 / 0.020 X a ——
> 0.015 > 0.015 [ l
0.010 0.010 ) /K
0.005 0.005 ( 2
0.000 L 0.000
0 100 200 300 400 500 600 700 800 0 100 200 300 400 500 600 700 800
K) K)
H20
0.040
——nozzle:t119
0.035 nozzle:t120
0.030 _— 't119
—1 | — 120
20.025
0.020
> 0,015 { /f
0.010 ) L
0.005 > -
da — |
0.000
0.65 0.70 0.75 0.80 0.85 0.90 0.95 1.00
(m/sec)
t119 t= 0.470 t= 0.475 t120 t= 0.475 t= t=0.480
4.2

43




